CHM151 Quiz 4a 25 Pts Fall 2009 Name: K €y
SHOW ALL WORK TO RECEIVE CREDIT.
Atomic masses: H 1.008, C 12.01, Na 22.99, P 30.97, S 32.07, O 16.00, K 39.01

1. (9 Pts) Complete and balance each of the following reactions:
a3 BaOHp(aq) + _% H;ASOaq) — & Hy0) + Bay (AsOy)y @
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2. (4 Pts) HR!VZ IB y grams of Na3;POy areﬁneeded to prepare 700 mL of 3.00 M Na3;PO4 solution?
o T T
— 1000 me, | 79 Nag PO,
NaNPy ‘
3. (4 Pts) How many grams of Na;PQOy are in 445 mL of 3.00 M Na3;PQO, solution?
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c. < HClaq) + NaCOs(aq) —

4. (8 Pts) Write the total ionic and net ionic equations for each of the following.

a JHCIONaq) + Ba(OH)p(aq) — 2ER00) + Ba(ClOn)xaq)
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b. 2HClO4(aq) + Ba(OH)(aq) — 2H,O(1) + Ba(ClOs)2(aq)
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CHMI151 Quiz 4b 25 Pts Fall 2009 Name: K Sy
SHOW ALL WORK TO RECEIVE CREDIT. 7
Atomic masses: H 1.008, C 12.01, Na 22.99, P 30.97, S 32.07, O 16.00, K 39.01

1. (9 Pts) Complete and balance each of the following reactions:

a. 3 HCIO4aq) + __ AIOHk() — 3 H, O ¥ ~+ /'LQ(C@%)% &

b. 2 Ba(OH)p(ag) + _S-H;ASOsaq) — 6 HaOP) + Eig (/’)‘O‘Dx &)

c. _;HBr(aq) + KyCOs(aq) — H.L Cos (‘g) VA Q }\, BV Gﬁy
s hof) + Co, &
2. (4 Pts) How many grams of K3POy are needed to prepare 700 mL of 3.00 M K3PO4 solution?
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3. (4 Pts) How many grams of K3POy4 are in 445 mL of 3.00 M K3POy4 solution?
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4. (8 Pts) Write the total ionic and net ionic equations for each of the following.

a. 2HCIO4(aq) + Ba(OH)(aq) — 2H,O(1) + Ba(ClOs)(aq)
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b. 2HCIOy(aq) + Ba(OH)(aq) — 2H,O() + Ba(ClO;).(aq)
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